BC Calculus – FDW 3rd Edition – Section 1.5 Even Answers

Quick Review 1.5
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  t < -3   8. (8/3, -3)   10.(a) (-1.39,4)  (b) no intersection

Section 1.5

2. yes   4. no   6. no   8. no   10. yes   12. yes   14. 
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, t > 0
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D: x > -2, R: Reals   42. [image: image17.jpg]


D: x > 4, R: Reals   
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  46.(a) 
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 (b) after 36 hours   48. after 44.081 years   

50.(a)[image: image20.jpg]


 (b) 1.10 trillion < actual by .05 trillion ft3  (c) during 2011

52. False. It fails the horizontal line test.  54. C   56. E

58.(a) y2 is the vertical shift of y1  (b) each graph of y2 is a horizontal line

(c) y4 and y = a are the same graph  (d) y1 = ln(x) – ln(a)
60. For f(x) > 0 and 1-to-1, let g(x) = 1/f(x). Prove g(x) is 1-to-1.

      Proof: Show that if g(x​2) = g(x1), then x2 = x1. 

                 Let g(x2) = 1/f(x​2) = 1/f(x​1) = g(x1). Since f(x​​2​​) = f(x1), x​2 = x1, q.e.d.

62. Let f(x1​) = f(x2), then 
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. (Note: ad – bc 
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0) Cross multiply and foil to get: 

     
[image: image23.wmf]12

acxx

12

adxbcxbd

+++

12

acxx

=

12

bcxadxbd

+++


[image: image24.wmf]12

()()

adbcxadbcx

Þ-=-


      Now divide by ad – bc 
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0 to get:   x1 = x2 , q.e.d.
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